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1. The profit of the M/s ABC, a partnership firm before charging 
managerial commission is Rs.44,000. The managerial 
commission is charged @ 10% on profit after charging such 
commission. The amount of managerial commission will be  
(a) Rs.4,400       (b) Rs.40,000    (c) Rs.4,000       (d) Rs.39,600  

2. Which of the following items is an asset?  
(a) Salary.  (b) A/c pay.  (c) Sales.  (d) Debtors. 

3. Which of the following balance and  title of A/c in the ledger  
(a) P & L Account.  (b) Balance sheet.  
(c) Earnings Statement  (d) Trial balance. 

4. All expense and….. accounts appearing in the trial balance are 
transferred to the trading and profit and loss account.  
(a) Loss.  (b) Revenue      (c) Asset.      (d) Liability. 

5. On 1st February, 2005, a loan of Rs.10,000 was given @ 12% 
per annum. Interest was received for 3 months in April, 2005. 
In the financial statements of the year ended 31st March, 2005 
amount of accrued interest should be:  
(a) Rs.100.     (b) Rs.200     (c) Rs.300      (d) Rs.1200 

6. On 1-4-2005, Ram invested Rs.1,00,000 in a business. Interest 
on capital is to be allowed @ 12% per annum. Amount of 
interest charged to P & L Account for the year 2005-2006 is:  
(a) Rs.9,000.  (b) Rs.10,000    (c) Rs.12,000  (d) None  

7. Carriage inwards is debited to  
(a) Trading account.  (b) Profit and loss account  
(c) P& L appropriation A/C (d) Balance sheet 

8. Opening stock of the year is Rs.20,000, Goods purchased 
during the year is Rs.1,00,000, Carriage Rs.2,000 and Selling 
expenses Rs.2,000.Sales during the year is Rs.1,50,000 and 
closing stock is Rs.25,000. The gross profit will be  
(a) Rs.53,000.  (b) Rs.55,000.  (c) Rs.80,000.      (d) Rs.51,000. 

9. Net profit before commission has been Rs. 1,20,000. 
Manager’s commission is 20% of net profit before charging 
such commission. The amount of manager’s commission is  
(a) Rs.22,000.  (b) Rs.25,000.    (c) Rs.24,000.      (d) Rs.20,000. 

10. Closing stock was not taken on 31.3.2006 but only on 7.4.2006. 
Following transactions had taken place during the period from 
1.4.2006 to 7.4.2006. Sales Rs.2,50,000, purchases 
Rs.1,50,000, stock on 7.4.2006 was Rs.1,80,000 and rate of 
gross profit on sales was 20%. Closing stock on 31.3.2006 will   
(a) Rs.3,80,000. (b) Rs.4,00,000.   (c) Rs.2,30,000.  (d) 1,50,000.  

11. Which of the following is correct?  
(a) Capital is equal to assets plus liabilities.  
(b) Assets is equal to liabilities minus capital.  
(c) Liabilities is equal to capital plus assets.  
(d) Capital is equal to assets minus liabilities. 

12. All of the following have debit balance except one. That 
account is:  
(a) Wages A/C (b) Debtors A/C (c) Bills A/C (d) Goodwill. 

13. The trail balance of Meghna shows the opening stock of Rs. 
10,000, it will be___________  
(a) Debited to the trading A/C (b) Credited to the trading A/C 
(c) Deducted from closing stock in the balance sheet.  
(d) Added to closing stock in the balance sheet. 

14. _______ will generally show a debit balance.  
(a) Bank Loan.  (b) Bad debts  (c) Salary  (d) Drawings. 

1. eSllZ , ch lh ,d lk>snkjh QeZ ds izca/kdh; deh”ku izHkkfjr djus ds i'pkr 

ykHk ij 10 izfr”kr dh nj ls izHkkfjr fd;k tkrk gS QeZ }kjk dek;k x;k ykHk 

izcU/kdh; deh”ku pktZ djus ls igys 44000 gSA izca/kdh; deh”ku gksXkk-  

(a)  4400 :-   (b) 40000 :-  (c) 4000 :-   (d)39600 :- 

2. fuEufyf[kr enksa esa ls dkSulh ,d laifr gS \  

(a)  osru  (b)  ns; [kkrk  (c)  fodz;     (d)  nsunkj   

3. fuEufyf[kr esa ls dkSu ,d nh xbZ frfFk ij [kkrkcgh esa [kkrks ds 'kh"kZd vkSj 

'ks"kksa dh lwph cukrk gS\  

(a) ykHk /gkfu [kkrk (b) fpV~Bk  (c) vk; fooj.k     (d) ryiV 

4. ryiV esa izdV gks jgs leLr O;; vkSj &&&& [kkrs O;kikj vkSj ykHk o gkfu 

[kkrs esa varfjr fd;s tkrs gS  

(a) gkfu (b) vkxe  (c) laifr (d) nkf;Ro 

5. 1 Qjojh 2005 dks] ,d 10000 :- dk _.k 12 izfr’kr izfro"kZ ij fn;k x;kA 

C;kt 3 ekg  ¼Qjojh ls vizsy½ vizsy 2005 esa izkIr fd;k x;k A 31 ekpZ 

2005 dks lekIr o"kZ ds foRrh; fooj.kksa esa mikftZr C;kt dh jkf’k gksuh pkfg;s  

(a)  100 :-   (b) 200 :-  (c) 300 :-   (d) 1200 :- 

6. 01-04-2005 dks jke us O;kikj esa 100000 :- fuos’k fd;sA iwath ij C;kt 12 

izfr”kr izfro"kZ Lohdf̀r fd;k tkuk gSA o"kZ 2005 & 06 ds fy, ykHk o gkfu 

[kkrs dks izHkkfjr dh tkus okyh C;kt dh jkf”k gS &  

(a)  9000 :-   (b) 10000 :-  (c) 12000 :-  (d) dksbZ ugha 

7. vkod HkkMk fdlesa MsfcV fd;k tkrk gS &  

(a) O;kikj [kkrk (b)ykHk/gkfu [kkrk (c) fu;kstu [kkrk  (d)  fpV~Bk   

8. o"kZ dk izkjafHkd LVkWd 20000 :- gS o"kZ ds nkSjku dz; fd;k x;k eky 100000 

:- gS vkod HkkMk 2000 :- vkSj fodz; O;; 2000 :- 1 o"kZ ds nkSjku fodz; 

150000 :- gS vkSj vfUre LVkWd 25000 :- gSA ldy ykHk gksxk &  

(a) 53000 :-   (b) 55000 :-  (c) 8000 :-   (d) 51000 :- 

9. deh'ku ls iwoZ 'kw) ykHk 120000 :- gSA izca/kd dk deh'ku ,sls deh'ku dks 

izHkkfjr djus ls iwoZ 'kq) ykHk dk 20 izfr'kr gSa A izc/akd ds deh'ku dh jkf'k  

(a)  22000 :-   (b) 25000 :-  (c) 24000 :-   (d)20000 :- 

10. 31-03-2006 dks vfUre LVkWd ugha fy;k x;k ysfdu 07-04-2006 dks fy;k x;kA 

fuEufyf[kr ysunsu 1-4-2006 ls 7-4-2006 dh vof/k ds nkSjku gq, & fodz; 

250000 :- dz; 150000 :- 7-4-2006 dks LVkd 180000 :- Fkk vkSj fodz; ij 

ldy ykHk dh nj 20 izfr'kr Fkh 31-3-2006 dks vfUre LVkWd gksxk &  

(a)  380000 :-  (b) 400000 :-  (c) 230000 :-    (d) 150000 :- 

11. fuEu esa ls dkSulk lR; gS \  

(a) iawth lEifRr;ka tek nkf;Roksa ds cjkcj gSA  

(b) laifRr;ka] nkf;Ro ?kVk,a iwath] ds cjkcj gSA  

(c) nkf;Ro] iwath tek lEifRr;ksa] ds cjkcj gSA  

(d) iwath] laifRr;ka ?kVk,a nkf;Ro] ds cjkcj gSA 

12. fuEufyf[kr lHkh dk MsfcV 'ks"k gS dsoy ,d dks NksMdj A og [kkrk gSA  

(a) etnwjh [kkrk  (b) nsunkj [kkrk  (c) ns; fcy [kkrk   (d) [;kfr 

13. es/kuk dk ryiV 10000 :- dk izkjfEHkd LVkWd n'kkZrk gS] ;g  

(a) O;kikj [kkrs dks MsfcV fd;k tkrk gS  

(b) O;kikj [kkrs dks dszfMV fd;k tkrk gS 

(c) fpV~Bs ds vfUre LVkWd ls ?kVk;k tkrk gS  

(d) fpV~Bs esa vfUre LVkWd esa tksMk tkrk gS 

14. &&&&&&&&&lkekU;r;k ,d MsfcV 'ks"k n'kkZ;sxk A  

(a) cSad _.k    (b) Mwcr _.k olwyh (c) ns; osru     (d) vkgj.k 
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15. If cost of goods sold is Rs.1,00,000, sales is Rs.1,25,000, closing 
stock is Rs.20,000, the gross profit will be  
(a) Rs.45,000  (b) Rs. 5,000   (c) Rs. 25,000  (d) None  

16. The cost of stock as per physical verification of Bharat Ltd. on 
10th April, 2006 was Rs.1,20,000. The following transactions 
took place between 1st April, 2006 to 10th April, 2006:  
Cost of goods sold   Rs.10,000  
Cost of goods purchased   Rs.10,000  
Purchase returns   Rs.1,000  
 value of inventory as per books on 31st March, 2006 will be Rs  
(a) 1,19,000.  (b)  1,11,000.    (c) 1,21,000.  (d) 1,20,000. 

17. The accountant of M/s ABC & Bros. paid personal income tax 
for the proprietor amounting Rs.10,000. This income tax 
should be  
(a) added to capital.  (b) credited to P & L A/c  
(c) debited to Trading A/c (d) deducted from capital. 

18. Following are the extracts from the Trial Balance of a firm as  
Name of Account           Debit Balance       Credit Balance  
Salaries                     16,000 Rs. 
P.F. deducted from salaries                         1,000 Rs. 
Provide for employer’s share of P.F. equivalent to employee’s 
share to P.F. The amount at which salaries expense will be 
shown in the Profit and Loss A/c is  
(a) Rs.15,000  (b) Rs.17,000   (c) Rs.16,000  (d) None  

19. A fire broke out on 30th March, 2006 in the godown of 
Mahesh, stock of invoice value Rs.1,600 was destroyed. The 
goods are invoiced at 25% above cost. The insurance company 
admitted claim of 50% only. The insurance claim will be:  
(a) Rs. 640.        (b) Rs. 600.     (c) Rs. 800.  (d) None. 

20. Salary has been paid for 11 months from April 2005 to 
February, 2006 amounting Rs.22,000. The amount of 
outstanding salary shown in the balance sheet will be:  
(a) Rs.1833.  (b) Rs.2,000.   (c) Rs.1,000.   (d) None. 

21. A purchased a car for Rs. 5,00,000, making a down payment of 
Rs. 1,00,000 and signing a bill payable of Rs. 4,00,000. As a 
result of this transaction  
(a) Assets  increase by  5 lac  (b) Liabilities  increase by  4 lac 
(c) Assets  increase by  4 lac  (d) Both (b) and (c). 

22. Rekha purchased a machinery for Rs. 50,000 on 1.4.2006. She 
paid electricity and and salary amounting Rs. 1,000 and Rs. 
2,000 respectively. Telephone bill amounting Rs. 200 was 
outstanding on 31.3.2006. The amount of expenses for the 
year ended 31st March, 2006 will be:  
(a) Rs. 53,200.  (b) Rs. 3,000.   (c) Rs. 53,000.  (d) Rs. 3,200. 

23. Goods costing Rs. 10,000 is supplied to Ram at an invoice price 
of 10% above cost and a trade discount of 5%. The amount of 
sales is  
(a) Rs. 11,000.  (b) Rs. 10,450.   (c) Rs. 10,500.  (d) None 

24. Gauri paid Rs. 1,000 towards a debt of Rs. 1,050, which was 
written off as bad debt in the previous year. Gauri’s account 
should be credited with  
(a) 1,000.        (b) 1,050.       (c) Nil        (d) None. 

25. Profit leads to increase in  
(a) Assets.  (b) Capital.  (c) (a) and (b).   (d) None  
 

15. ;fn csps x;s eky dh ykxr 100000 :- gS] fodz; 125000 :- gS] vfUre LVkWd 

20000 :- gS] ldy ykHk gksxk &  

(a) 45000 :-  (b) 5000 :-  (c) 25000 :-    (d) dksbZ ugha 

16. 10 vizsy 2006 dks Hkkjr fyfeVsM ds HkkSfrd lR;kiu ds vuqlkj LVkWd dh 

ykxr 120000 :- FkhA fuEufyf[kr ysunsu 1 vizsy 2006 ls 10 vizsy 2006 ds 

e/; ?kfVr gq, %  

cps x;s eky dh ykxr        10000 :  

dz; fd;s x;s eky dh ykxr--- 10000 :-     dz; okilh   1000 :-  

31 ekpZ 2006 dks iqLrdksa ds vuqlkj LdU/k dk ewY; gksxk &  

(a) 1,19,000 :-  (b) 1,11,000 :- (c) 1,21,000 :- (d)1,20,000 :- 

17. eSllZ , ch lh ,.M cznlZ ds ys[kkdkj us Lokeh ds fy, 10000 :- O;fDrxr 

vk;dj pqdk;k ;g vk;dj ----------- pkfg, &  

(a) iwath esa tksMk tkuk   (b) ykHk/gkfu [kkrs dks dszfMV djuk   

(c) O;kikj [kkrs dks MsfcV fd;k tkuk  (d) iawth ls ?kVkuk  

18. fuEufyf[kr 31 ekpZ 2006 dks ,d QeZ ds ryiV ls lkjka'k gS &  

Name of account   Debit balance       Credit balance  
Salaries                        16000 Rs.     
P. F. decucted from salaries                 1000 Rs. 
QeZ ih ,Q esa deZpkjh ds va'knku ds leewY; ih ,Q fu;ksDrk ds va'knku ds 

fy, izko/kku djrh gSA jkf'k ftl ij osru O;; ykHk o gkfu [kkrs esa n'kkZ;k 

tk;sxk &    

(a) 15000 :-   (b) 17000 :-  (c) 16000 :-   (d) dksbZ ugha 

19. egs'k ds xksnke esa 30 ekpZ 2006 dks vkx yx xbZ 1600 :- chtd ewY; dk 

LVkd u"V gks x;kA eky ykxr ij 25 izfr'kr ij chtd fd;k tkrk gSA chek 

daiuh us dsoy 50 izfr'kr dk nkok Lohdr̀ fd;kA chek nkok gksxk &  

(a) 640 :-   (b) 600 :-  (c) 800 :-   (d) dksbZ ugha 

20. vizsy 2005 ls Qjojh 2006 ds 11 ekg ds fy, 22000 :- ewY; dk osru 

Hkqxrku fd;k x;k gSa fpV~Bs esa n'kkZbZ xbZ vnRr osru dh jkf'k gksxh &  

(a) 1833 : (b) 2000 : (c) 1000 :-   (d) dksbZ ugha 

21. , us 500000 :- dh dkj dz; dh] 100000 :- dk Mkmu isesUV djds vkSj 

400000 :- dk ,d ns; fcy gLrk{kj djdsA bl ysunsu ds ifj.kkeLo:i&  

(a) laifRr;ka 500000 :- ls c< tk;sxhA       

(b) nkf;Ro 400000 :- ls c< tk;saxsA   

(c)  lEifRr;ka  400000 :- ls c< tk;saxh  (d)   c o l   

22. js[kk us 1-4-2006 dks ,d e'khujh 50000 :- esa dz; dhA mlus dze'k% 1000 :- 

vkSj 2000 :- fctyh vkSj osru ds Hkqxrku fd;sA 200 :- jkf'k dk VsyhQksu 

fcy 31-3-2006 dks vnRr FkkA 31 ekpZ 2006 dks lekIr o"kZ ds fy, O;; dh 

jkf'k gksxh &  

(a)  53200 :-   (b) 3000 :-  (c) 53000 :-   (d) 3200 :- 

23. 10]000 :- ykxr dk eky ykxr ij 10 izfr'kr ds chtd ewY; ij jke dks 

vkiwfrZ fd;k tkrk gS vkSj 5 izfr'kr dk O;kikfjd cV~Vk fn;k tkrk gS fodz; 

dh jkf'k gS &  

(a) 11000 :-   (b) 10450 :-  (c) 10500 :-   (d) dksbZ ugha 

24. xkSjh us 1050 :- ds cdk;k m/kkj dh txg 1000 :- pqdk;s tks xr o"kZ esa 

Mwcr _.k ds :i esa vifyf[kr FksA xkSjh dk [kkrk fdrus ls dszfMV fd;k 

tkuk pkfg;s &  

(a) 1000 :-   (b) 1050 :-  (c)  'kwU;   (d)   dksbZ ugha 

25. ykHk fdls o`f) dh vksj ys tkrk gS &  

(a) laifRr;ka    (b) iawth   (c) nkssuks v o c   (d) dksbZ ugha  
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26. Accounts receivable normally has ________balance.  
(a) Debit.  (b) Credit.      (c) Unfavourable.  (d) None. 

27. Mr. Mohan started a cloth business by investing Rs. 50,000, 
bought merchandise worth Rs. 50,000. He sold merchandise 
for Rs. 60,000. Customers paid him Rs. 50,000 cash and 
assured him to pay Rs. 10,000 shortly. The amount of revenue 
earned by him is Rs- 
(a)  50,000.  (b)  60,000.     (c)  1,00,000.  (d) 70,000. 

28. If sales revenues are Rs. 4,00,000; cost of goods sold is Rs. 
3,10,000, the gross profit is  
(a) Rs. 90,000.  (b) Rs. 4,00,000.  (c) Rs. 3,10,000.  (d) None  

29. Opening stock Rs.1,00,000, closing stock Rs.50,000, purchases 
Rs.2,00,000, sales Rs.5,00,000. Gross profit rate 20% on sales. 
The amount of gross profit is Rs- 

(a) 2,50,000. (b) 1,00,000    (c) Nil.   (d) None  
30. Mohan runs a restaurant. He renovates some of the old cabins 

to increase space. The amount of Rs. 15,000 was incurred on 
renovation. The amount to be charged to p&L A/c  
(a) Nil.  (b) Rs. 15,000.   (c) Rs. 10,000.   (d) None  

31. Money paid to MTNL Rs. 10,000 as a Security Amount, for 
installing telephone in office is  
(a) Expense.  (b) Liability.    (c) Asset.  (d) Revenue. 

32. Capital introduced in the beginning by Shyam Rs.. 3,00,000; 
further capital introduced during the year Rs. 2,00,000; 
Drawing Rs. 1,500 per month and closing capital is Rs. 
4,50,000. The amount of profit or loss for the year is  
(a) Loss of Rs. 32,000.  (b) Loss of Rs. 50,000.    
(c) Profit of Rs. 32,000.  (d) Information is insufficient  

33. Income includes  
(a) received  (b) receivable  (c) Both (d) None  

34. Cost of goods sold can be calculated by ____  
(a) Trading A/c    (b) P & L A/c    (c) Balance sheet  (d) None  

35. Income tax in case of a sole trader is treated as _____expenses 
(a) Business (b) Personal  (c) Debtors (d) None  

36. Opening stock Rs. 3,700, Purchases Rs. 20,800, Closing stock 
Rs. 2,500. Cost of goods sold will be Rs_______  
(a) 22,000      (b) 25,000     (c) 18,000   (d) 30,000 

37. Gross Profit  50,000  Rent paid    6,000  
Salaries       5,800      Provision for Bad Debts     2,000. 
Apprentice Premium 4,000  : Net profit of the firm will be -  
(a) Rs 42,200     (b) Rs 40,000     
(c) Rs 42,000     (d) Rs 45,000 

38. Goods purchased Rs. 1,00,000, sales Rs. 90,000 Margin 20% 
on sales. Closing stock is _____ 
(a) Rs. 10,000 (b) Rs. 25,000    (c) Rs. 28,000  (d) None  

39. Given the assets of  business to be Rs. 24,000 and the owner’s 
equity as Rs. 8,000, what will the liabilities equal to Rs ? 
(a) Rs 24,000  (b) Rs 16,000  
(c) Rs 8,0000  (d ) Rs 32,000. 

40. At the beginning of the year when profit during the year is Rs. 
60,000, capital at the end Rs. 2,00,000, Withdrawal Rs. 40,000, 
introduced Rs. 25,000,Capital will be Rs— 
(a) Rs 1,50,000  (b) Rs 1,55,000  
(c) Rs 1,00,000  (d) Rs 60,000. 
 

26. izkI; [kkrksa dk lkekU;r;k ---------------------------- 'ks"k gksrk gS A  

(a)  MsfcV    (b) dszfMV  (c)  izfrdwy    (d) dksbZ ugha 

27. Jh eksgu us 50]000 :- fuos'k djds ,d diMsa dk O;olk; vkjaHk fd;kA 

50000 :- dk O;kikfjd eky dz; fd;kA mlus 60000 :- esa O;kikfjd eky 

csp fn;kaA xzkgdksa us mls 50000 :- uxn pqdk;s vkSj 10000 :- tYn gh 

Hkqxrku djus dk vk'oklu fn;kA mlds }kjk vftZr vkxe dh jkf'k gS &  

(a) 50000 :-   (b) 60000 :-  (c) 100000 :-   (d) 70000 :-  

28. ;fn fodz; vkxe 400000 :- gS csps x;s eky dh ykxr 310000 :- gS] ldy 

ykHk gS &  

(a)  90000 :-   (b) 400000 :-  (c) 310000 :-    (d) dksbZ ugha  

29. izkjafHkd LVkWd 100000 :- vfUre LVkWd 50000 :- dz; 200000 :- fodz; 

500000 :- ldy ykHk nj fodz; ij 20 izfr'kr] ldy ykHk dh jkf'k gS &  

(a) 250000 :-  (b) 100000 :-  (c) 'kwU;   (d) dksbZ ugha 

30. eksgu ,d jsLVksjsUV pykrk gSA og dqN LFkku o`f) gsrq iqjkus dsfcuksa dk 

uohuhdj.k djkrk gSA uohuhdj.k  ij 15000 :-dh jkf'k O;; dh xbZA ykHk 

,oa gkfu [kkrs dks izHkkfjr dh tkus okyh jkf'k gS &  

(a)  'kwU;    (b) 15000 :-  (c)  10000 :-    (d) dksbZ ugha 

31. dk;kZy; esa VsyhQksu LFkkiuk ds fy, 10000 :-izfrHkwfr ds :Ik esa MTNL dks 

pqdk;s x;s &  

(a) O;;    (b) nkf;Ro   (c)  laifRr   (d)  vkxe 

32. ';ke }kjk vkjaHk esa yxkbZ xbZ iwath 300000 :-  o"kZ ds nkSjku vkxs yxkbZ xbZ 

iwath 200000 :- vkgj.k 1500 :- izfrekg vkSj vfUre iwath 450000 :- gSA o"kZ 

ds fy, ykHk ;k gkfu dh jkf'k gS &  

(a)  32000 :- dh gkfu   (b)  50000 :- dh gkfu  

(c)  32000 :- dk ykHk  (d) lwpuk vi;kZIr gS 

33. vk; 'kkfey djrh gS &  

(a)  izkIr vk;    (b)  izkI; vk;  (c)  v ,oa c nksuks  (d)  dksbZ ugha 

34. csps x;s eky dh ykxr dh x.kuk &&&&&&&&&& }kjk dh tk ldrh gSA  

(a) O;kikj [kkrk   (b) ykHk gkfu [kkrk (c) vkfFkZd fpV~Bk    (d) dksbZ ugha  

35. ,dkdh  O;kikjh dh n'kk esa vk;dj dk && ds :i esa O;ogkj fd;k tkrk gSA  

(a) O;kolkf;d O;; (b) oS;fDrd O;;  (c) nsunkj O;;   (d) dksbZ ugha 

36. izkjfEHkd jgfr;k 3]700 :- dz; 20]800 :- vfUre jgfr;k 2]500 :- A cssps 

x;s eky dh ykxr gksxh &  

(a) 22,000 :-  (b) 25,000 :- (c) 18,000 :-   (d) 30,000 :- 

37. ldy ykHk 50,000 fn;k x;k fdjk;k   6,000 

osru 5800         v'kks/; _.kksa gsrq izko/kku    2000 

izf'k{kqrk izhfe;e 4,000 QeZ dk 'kq) ykHk gksxk &  

(a)  42,200 :-   (b) 40,000 :-  (c) 42,000 :-   (d) 45,000 :- 

38. eky dk dz; 1]00]000 :- fodz; 90]000 :- ykHk fodz; ij 20 izfr'kr vfUre  

jgfr;k gS &   

(a) 10,000 :-   (b) 25,000 :-  (c)  28,000 :-   (d) dksbZ ugha 

39. O;olk; dh dqy lEifRr 24]000 :- rFkk Lokeh dh lerk 8]000 :- gSA 

nkf;Ro dh jde gksxk & 

(a)  24,000 :- (b) 16,000 :- (c) 80,000 :- (d)32,000 :- 

40. o"kZ ds izkjEHk es iwath dh x.kuk dhft,] ;fn o"kZ dk ykHk 60]000 :-] o"kZ ds 

vUr eas iwath 2]00]000 :-] vkgj.k 40]000 rFkk vfrfjDr iwath fofu;ksx 25]000  

gSA 

(a)  1,50,000 :-(b) 1,55,000 :- (c) 1,00,000 :- (d)60,000 :- 


